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Sl QB 20PNV (SLEH) (ASS0I22Y) CERED
SA - BB - SRAGEH) - NS - BES 0l st ESEIET HlDE2
OIS 1t 1,504,772 1,470,569 34,203
2 149,365
= 29,873
2 1,305,534
HASE sexaze| 1,504,772 1,465,429 39,343
2 149,365
= 29,873
2 1,305,534
22022 XA (SEA) (AES0DI22Y) 7%, 130 756,787 39,343
2 149,365
= 29,873
2 616,892
22 2 =2ose 832 108,723 73,375 3,348
2 8,978
< 17,396
2 4,349
307 BI2H0IH 108,723 73,375 3,348
2 8,978
= 17,39
2 4,349
NEEEISET] 108,723 73,375 3,348
Oz 2 =g 232
64,2572+ 1,692% 108,723
2 8,978
= 17,39
2 4,349
HOHQI2Z R S01H] 41,470 59,145 A17,675
2 3,176
= 6,635
2 1,659
307 BI2¢0IH 41,470 59, 145 A17.675
2 3,176
= 6.635
2 1,650
NEEEIEET] 41,470 59, 145 A17.675
OZf=IT S0it|
1,120,810237% 41,470
2 3,176
= 6.635
2 1,650
TWoHeIS 201 At 2] 17, 184 0 17,184
2 13,747
= 2,749
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B2 NASS MBX22L
o9l A2 Z0DISSANV (SLEH) (ABS0II22) (crol: & 2)
SA - BB - SRAGEH) - NS - BES 0l st ESEIET HlDE2
2 688
307 S12H01 17, 184 0 17,184
2 13,747
= 2,749
2 688
NEEEIEET] 17,184 0 17,184
OMIIZ0! At 28]
8,502, 000222 17,184
2 13,747
< 2,749
2 688
olZS0iAY BEH) 19,330 15,483 3,847
2 16,464
= 3,098
2 773
201 Zet2 | 15,370 11,523 3.847
2 2,29
= 2,460
2 614
01 Al 22l 15,370 11,523 3.847
O2IZZ0MEY Let2t|
8.890,0002+13] 8,800
2 7,112
= 1,423
2 35
OCIZZ0AY B22E HE|
10,0002 %6007H 6.000
2 4,800
< 960
2 240
Oolz30aoRRs 42
80,0002 32 x23] 480
2 384
= 77
2 19
202 Oft| 3,960 3,960 0
2 3,168
< 633
2 159
ENTT 3,960 3,960 0
O2IZZ0AI ZLHOIH]
20,0002 32 x662] 3,960
2 3,168
< 633
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yu: HASES MEKe R
el 2301122 XA(SEE) (B S0I22) (el @e)
SN - B SRA(BH) - HPAY - BES O &0 I 0f Ar oA tmE==T
| = 159
oZZ0iREH THIRYS 601,248 565,686 15,562
308 TIXIEHHISOI 601,248 565,686 15,562
07 KX RS2 601,248 585,686 15,562
Oo2Z011EH| 2HIRLS
291,7262%2,0612 601,248
S 8,175 2,598 5,577
801 0ll51H 8,175 2,598 5,577
NIEEIRETET 8,175 2,598 5,577
OuiiHlbl 8.175,00021+18] 8,175
HASFUMHT(SY)(NASFUMEATIIS) 708,642 708,642 0
HASS FoMEos X9 701,562 304,000 397,562
201 LEH2HH| 2,400 2,400 0
01 AR 2218 2,400 2,400 0
OMEOIHI|Z T2 KX 4|
2.,400,0002! 13| 2,400
202 01t 1,600 1,600
01 =LHO1H| 1,600 1,600
OMBOHEI|Z 2% Ol
20,000&1%22 +403] 1,600
501 8X3 697,562 300,000 397,562
01 LB 697,562 300,000 397,562
OMEOIEI|Z X3
697,562,000 +13] 697,562
OllbIBI (HASFDIMEOHE S25|H) 7,080 404,642 397,562
801 0ll51H 7,080 404,642 397,562
IEEIRETE 7,080 404,642 397,562
ool 7,080,00024%18] 7,080
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Al A

M- - SA(3) - MRAY - BES Ol &koy Z| B 0f| Ak Hwsz2
A0 |5 2,116,937 1,299,897 817,040
7l 1,996,487
z 120,450
LSREHDH 2,015,937 1,188,383 827,554
Il 1,914,137
2 101,800
FEPLASEE A (FRINA) 2,015,937 1,188,383 827,554
7l 1,914,137
= 101,800
A AEHEZA 2 AFEZ2IHI(FOIXIR AN BOF 2 0B 7,000 20,607 A13,607
X&)
7l 7,000
201 et AY) 3,000 12,567 19,567
Il 3,000
01 AF22t2(HI 3,000 12,567 19,567
Oolgers2H|] 3,000
OFQRIAALEI L BRI AFE+EHI
250,000+ 1200 & 3,000
Il 3,000
202 Ot 4,000 8,040 24,040
Jl 4,000
01 2UH0IH] 4,000 8,040 24,040
OIEZA L AFLSTIAEHEA 04H]
20,0002 x2H %100 4,000
J| 4,000
OIXI &AL 414,637 390,203 24,434
7l 414,637
307 2I2H0|H 181,800 167,700 14,100
Il 181,800
02 QIZHEAAIH S X 181,800 167,700 14,100
OF QXA (ZEXIR)
1,800,000+ 101 Al CH 181,800
7l 181,800
402 QI2EXHR0| ™ 232,837 222,503 10,334
J| 232,837
02 QIZHXH2 AL E R (0| X TH) 232,837 222,503 10,334
OF0IXI AL (2HEXIR)
23,283,700 103] 232,837
7l 232,837
AL XS 2l 9,500 12,500 3,000
7l 9,500
201 Ler2 Y| 7,000 9,900 A2,900
Jl 7,000
01 AFR2t2|l 4,000 6,400 A2,400




A SF0|I=n
M RSP
ool SEINESEIIAH(SEINS) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 ZI S0l &t HnsZ
Ol et+2tI] 4,000
04BN YRIX 24|
333,333 * 1200 & 4,000
| 4,000
02 E324H| 3,000 3,500 A500
O[Xtgh - Hetd]] 3,000
O==H7Y 22X KXl
250,000 1201 = 3,000
| 3,000
202 044l 2,500 2,600 A100
| 2,500
01 AL 2,500 2,600 A100
O399 =Z0H]
20,0002 x2E+62 .5 2,500
| 2,500
EAS2ACHIE XA 44,000 40,400 3,600
| 44,000
207 A2 OH | 44,000 40,400 3,600
| 44,000
01 ¢ EAH| 44,000 40,400 3,600
OgszFae| AEAHE 0ISHE It
44,000,000& *13] 44,000
| 44,000
ollgl bl 1,800 11,673 29,873
801 GilHIHl 1,800 11,673 29,873
01 erilblbl 1,800 11,673 AQ,873
©Jt:(=[}:] 1,800,000 *13] 1,800
SEX2 A 1,539,000 713,000 826,000
| 1,439,000
s 100,000
401 Al&HIZ 20| 1,539,000 713,000 826,000
J| 1,439,000
[ias 100,000
01 AIZHI 1,521,223 713,000 808,223
Oz3&H SXsl2 HSSAH|
1,328,223,000& 13| 1,328,223
| 1,328,223
Oz=&x - S8 sERSHEH AE S AH]
193,000,000& *13] 193,000
| 93,000
i 100,000
02 Zeldl 17,777 0 17,777
O=&H SXal& A SA Zeldl
17,777,000&*13] 17,777
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20253 20l4 JIEFSESIH &l

H & 0l & AHS B Ml A

2025-01-06 10:23:56

A dXelZ N Dt
Hu: =3 X8 L 2
R s3I SXZ2(SSARTLAY) (SH &)
SA -3 - A(3) - MISA - B85 Off &K ZI S0 &Y Hws2
PN Ty ) 305,450 7,550,915 A7,245,465
S3HA 248 Y 22 305,450 6,158,244 25,852,794
S3HI A2 (sSXRAZLHAIY) 305,450 6,158,244 ANb,852,794
S3HX AE2 B A (s3SAATHAILEE 166,400 1,559,720 1,393,320
313
201 2| 24,600 24,600
01 ArR2eltl 9,000 9,000
Os3HA 2301 222 ME
5,000& *1,800% 9,000
02 E324H| 15,600 15,600 0
Os3HAX IV Selg 2 It2s, =3
BIX £ ®)IQ3
1,300,000& 122 15,600
202 o4t 1,200 1,200
01 =LHO4 b 1,200 1,200
Os3HA SXE= =& o]
20,0003 x2H+302] 1,200
207 ARIHLH| 60,000 10,000 50,000
01 HEGH| 60,000 10,000 50,000
O3 S2AY =8 2249
10,000,000 171 2 10,000
Os3HA HEHE & AAEH 88 EY
50,000,000 104 2 50,000
401 Al&HIZ 20| 80,600 1,523,920 1,443,320
01 AlEHI 80,600 1,523,920 21,443,320
O[AIEHI] 80,600
O3k |2
850,000 31 2+ 123 30,600
Os3HA 2LEX EX&Y
50,000&*1,000m" 50,000
CMSQHSHMElE SR (sSXAEEALSESIH) 139,050 88,330 50,720
201 L2 | 61,850 81,130 A 19,280
01 At 22|l 1,850 21,130 219,280
Olget+=gHl] 1,850
ORXI=ZLH==Held AIREE 7
200,000& x53| 1,000
OX=ELH=MeE =D &XE
31,9003+ 128 383
OUELQH-HMelE SIFEEI| Xz
38,9002 128 467
02 2324l 60,000 60,000 0
O[AMNEEBISXIYI] 51,000
OX=HHMel&E sXl2eld]
3,000,000 *33] 9,000
OX=SsSHA =2JHZAMA FX2e
]l 300,000& =123 3,600

_7_




SAT ARRIZA D
M 52X TN Y 29
o9l SREX KA (SBNRESAY) (cHol: 22)
SA-3Y - SRA(SAH) - MRAY - BES Off &4 ZI S0l &t HnsZ
OUSSZCHT| 24 2oH|
300, 00024 1203] 3,000
oFIIeHE 2| Thed|
200,00021 122 2,400
O[2Z23 % HA 9,000
OXNZQHAHEIF (CTV SAHl L HII22
70,0002 122 8,400
OUZQHAHIT +223
50,0002+ 122 600
202 01| 7,200 7,200
NETEE 7,200 7,200
OSZEX YFAHM XNE22l ot
20,00021%52§+723] 7,200
207 SR 70,000 70,000
NEEEET 70,000 70,000
OA=ETEX 2H+ H2lP XIZHA
8 70,000,000%4+13] 70,000
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Al A

SA SAICIXRID
Ha: =B
CHol: FEAALR] SHSIH(FUAY) (cHol: 22)
SN - GA(SH) - NRAY - BES 0l &t £/ 0412 HlRE2
SAICIRHQI D} 4,900,240 3,859,489 1,040,751
=B 4,900,240 3,859,489 1,040,751
ALY SEEIH (FLAY) 2,042,240 2,231,489 189,249
200 23ES X2 a4 1,000 1,000 0
201 B2t 1,000 1,000 0
01 AL 22| 1,000 1,000 0
Olger+gtI] 1,000
O2HY X SII 242
100, 00024+ 103] 1,000
ST H L ALY 2,000,240 0 2,000,240
207 AL 280,000 280,000
01 eIREet| 280,000 280,000
OYE ZUFaRT 22| HY
28,00021+10,000m 280,000
401 AIZHIL2H| 1,720,240 1,720,240
01 Al 1,720,240 1,720,240
OlEXoHHI] 1,720,240
0LE FEFe SN YL
69,082, 132410, 177 1,720,240
=201 EXIEMTALLS 21,000 21,000 0
201 Y2t 2,000 2,000
01 AL 22| 2,000 2,000
Olger+gtI] 2,000
OE0 228 22iTRIE 428 7Y
500,000 45| 2,000
202 1| 4,000 4,000
01 2UH0i| 4,000 4,000
OASHT AMB2 L A2A3 GTAR]
218t 200,000 +20% 13| 4,000
402 BIRIXHZ01H 15,000 15,000
01 BIRIXFE ALY BE (R THE ) 15,000 15,000
OZY0IE = NSHHI
3,000,00021%55 15,000
ZEAIY Ol 20,000 2,200,489 £2, 189,489
801 il | 20,000 2,200,489 £2, 189,489
01 LBroiblt] 20,000 2,200,489 £2, 189,489
oolyIbl 20,000,000%/+13] 20,000
IZFY SN (TIFY) 2,858,000 1,628,000 1,230,000
ors ZBES ALY 2,830,000 1,612,000 1,218,000
201 Y2t 43,200 22,000 21,200
01 AFR 22| 9,200 2,000 7,200
Olger+gtI] 9,200
0ARE +8, 44, S|
500, 00021%103] 5,000
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2A:

S AICI AR 1t

Nz =HSEHM
9. BB SH3|H(BBFL) (12l M2
SN - BE - SA(B) - NRAY - BES 0 &t £/ 0] oo HIRE2
OY=H Al 20,0002 +3& +703] 4,200
02 2324l 14,000 0 14,000
Oges 3379 34 22|
200,000 x10=+72 14,000
03 A2 20,000 20,000 0
O =EHHA 20,000,000&*12] 20,000
202 044l 4,000 4,000
01 AL 4,000 4,000
OZTESUAY AMYB STARY 28
200,000 x2F 10 4,000
403 TS =01 2,760,000 1,440,000 1,320,000
02 S| 2SI CHEH =2 H L EFALS I 2,760,000 1,440,000 1,320,000
OYAS DTFE YWSSS(SYFAI0
1&4X1) ,000,000& +60= 2,760,000
802 BHet= DI} 22,800 22,800
03 JIEIEHEI= S 22,800 22,800
Oggd S3FH Hixl= et
760,000& *30= 22,800
ollgigl 28,000 16,000 12,000
801 OiHIbI 28,000 16,000 12,000
1 Zetolgil 28,000 16,000 12,000
OO:IIHIHI(j'E , AHldl)
28,000,000& 13 28,000
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